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#include<stdio.h>
#include<math.h>

main(){

kaitend () ;

}

int kaitend(){

double
double
double
double
double

double
double
double

double
double
double
double
double
double
double
double
double
double

radius_ratio_x=3.1; /* relative length of prinxipal axis */
radius_ratio_y=2.9;
radius_ratio_z=5;

R00=2.0 ; /* radius for shperical shape [cm] */
density=1; /* density [g/cm”~3] */
angnlar_velocity_ratio_x=3; /* relative size of initial ang. vel. */

angnlar_velocity_ratio_y=2;
angnlar_velocity_ratio_z=1;

moil, moi2, moi3 ; /* moment of inertia */

omg01, omg02, omg03; /* initial angular velocity vector, B-frame */
omgl, omg2, omg3 ; /* angular velocity vector, B-frame */
ROx,RO0y,R0z,RO ;

omg0;

al,a2,a3 ;

dt,t,pi, b,V;

elx,ely,elz,e2x,e2y,e2z,e3x,e3y,e3z;

eldx,eldy,eldz,e2dx,e2dy,e2dz,e3dx,e3dy,e3dz;
Lix,L1y,L1z,L2x,L2y,L22,L3x,L3y,L3z,Lx,Ly,Lz;

pi=4*atan(1.0); fprintf(stderr,"check : pi = %20.16f\n",pi);
dt=0.0001; /* time step size [sec] */
omg0=20%pi; /* size of initial ang. vel. [radian/sec] */

RO=R00/pow(radius_ratio_x*radius_ratio_y*radius_ratio_z,1.0/3.0);
ROx=RO*radius_ratio_x; ROy=RO*radius_ratio_y; ROz=RO*radius_ratio_z;
fprintf (stderr,"RO=(%f %f %f)\n",ROx,ROy,R0z);

V=4*pi*ROx*ROy*R0z/3; /* volume of the rigid body [cm~3] */
moil=density*V*(ROy*ROy+R0z*R0z)/5; /* moment inertia [g cm™2] */
moi2=density*V* (ROz*R0z+R0Ox*R0x)/5;

moi3=density*V* (ROx*ROx+ROy*R0y)/5;

fprintf (stderr,"MOI=(%f %f %f)\n",moil,moi2,moi3);

b=1/sqrt(angnlar_velocity_ratio_x*angnlar_velocity_ratio_x

+angnlar_velocity_ratio_y*angnlar_velocity_ratio_y
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+angnlar_velocity_ratio_z*angnlar_velocity_ratio_z);
omgOl=omgO*angnlar_velocity_ratio_x*b;
omg02=omgO*angnlar_velocity_ratio_y*b;
omg03=omgO*angnlar_velocity_ratio_z*b;

omgl=omg01;
omg2=omg02;
omg3=omg03;

elx=1, ely=0, elz=0;
e2x=0, e2y=-1, e2z=0;
e3x=0, e3y=0, e3z=1;

for(t=0;t<=1;t=t+dt) {

Lix=moil*omgl*elx;
L2x=moi2*omg2*e2x;
L3x=moi3*omg3*e3x;

Lly=moil*omgl*ely;
L2y=moi2*omg2*e2y;
L3y=moi3*omg3*e3y;

Llz=moil*omgl*elz;
L2z=moi2*omg2*e2z;
L3z=moi3*omg3*e3z;

Lx=L1x+L2x+L3x;
Ly=L1y+L2y+L3y;
Lz=L1z+L2z+L3z;

/*printf ("%4f %f %f

%f\n",t,Lx,Ly,Lz) ;*/

al=(moi2-moi3)*omg2*omg3/moil;
a2=(moi3-moil)*omg3*omgl/moi2;
a3=(moil-moi2)*omgl*omg2/moi3;

eldx=dt*(omg3*e2x-omg2*e3x) ;
eldy=dt* (omg3*e2y-omg2*e3y) ;
eldz=dt* (omg3*e2z-omg2*e3z) ;

e2dx=dt* (omgl*e3x-omg3*elx) ;
e2dy=dt* (omgl*e3y-omg3*ely) ;
e2dz=dt* (omgl*e3z-omg3*elz) ;

e3dx=dt* (omg2*elx-omgl*e2x) ;
e3dy=dt* (omg2*ely-omgl*e2y) ;
e3dz=dt* (omg2*elz-omgl*e2z) ;

printf ("%f %f %L

%t hE KE UE WE AE AEf %E Jf\n",t,omgl,omg2,omg3,

elx,ely,elz,e2x,e2y,e2z,e3x,e3y,e3z) ;

omgl=omgl+dt*al;
omg2=omg2+dt*a2;
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omg3=omg3+dt*a3;

elx=elx+eldx;
ely=ely+eldy;
elz=elz+teldz;
e2x=e2x+e2dx;
e2y=e2y+e2dy;
e2z=e2z+e2dz;
e3x=e3x+e3dx;
e3y=e3y+e3dy;
e3z=e3z+e3dz;
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